PURCHASE DIVISION, Advice for approval for credit to contractor

Date:	16/12/2	2020	1.7		Prepared by:		T.D. Murt	hy	
WO no.	70093				WO date.		05/09/202	0	
Contractor Name	Vidya	Shankar V			WO amount -	- A	Rs. 1,74,8	76/-	
Firm/Company	Modi R	Realty Mallapur L	LP		Project name	ect name GMR			
Nature of work	False C	Ceiling work		I					=
Villa/flat/block no.	A- 101	A- 101 & 109.							
Request for payment	date 03/12/2	2020		Request for	payment amo	ount – B		Rs. 60	,678/-
GST on bills – C	Rs. 10,	Rs. 10,922/- Total D = B + C		Rs. 71	,600/-				
Work done from	20/10/2	20/10/2020 Work done to		to			10/11/	2020	
Sl. No	Bill No	Bill No. Bill date					Bill an	nount	
1.	70	70 28/11/202		28/11/2020				Rs. 71	,598/-
2.	-	- 1 kg - 13 H			N=		· ·		
3.	-			-					
4.	-				-				
Amount E - Bills total				Rs. 71,598/-					
Amount F - Voucher payment amount F (D-E) -40% labour charges, 40% allowance for consumables and 20% transport charges $-$ or as per guidelines					Rs. 2/-				
Amount G - Other Credits :									
Amount H - Other Debits :									
Amount I - to be cred	ited to the con	tractor (E+F+G-H	I)		36			Rs. 71	,600/-
Amount J – Difference	e A-B (should	l be nil)						Rs. 1,	14,198/-
Amount K – Differen	ce D-E-F (sho	uld be nil)						-	
Quantity received as	per WO	V.	For				received	Explained below	
Difference between A		ole			No (explained				
Excess / short materia	al received				ed - within acc				
Close WO				□ Yes □ No	o – wait for ba	lance mater	rial □ No (explaine	ed below)
Advance paid / PDC	given (deduct	when paying)		□ Yes – Rs	. <u>/-</u> ¬×	6			
Payment – due date				19/12/2020					
Remarks: Esimate a	nd measurement	ent sheet is attac	hed.						
			1	•				17	
1 Approved	Purchase Officer	Purchase Manager		rement SETOVED	M.D.	Accounts - receiver of bill	Accoun	tants	Accounts Manager
Sign:	Pall	D.S.	16	DEC 2020					
Date	10 los	D 16 12	MINIS	SH PARIK	H				
		N	ANAGE	PROCUREM	7141				

Notes: 1. In case amount to be credited to contractor and the bills total does not match prepare JV for debit or credit. 2. Attach additional sheets if quantity of bills or DCs is more than the space provided. Clearly mark the space provided with 'see attachment'. 3. Purchase Officer can approve WOs upto Rs. 5,000/-, Purchase Manager and Procurement Manager to approve all bills from 5,000/- to 1,00,000/- 4. Attach JV, Office copy of WO, DCs and bills to this advice. 5. To be approved by accounts manager if value exceeds Rs. 10,000/- 6. MD to approve all bills above Rs. 1,00,000/-

GSTIN:36AEKPV0495G168 Z2 TAX INVOICE

10

1. Goods once sold will not be taken back.

2. Any Dispute is Subject to Hyderabad Jurisdiction only

Cell: 9246889529



<u>DYA SHANKAR V.</u>

INTERIORS



Authorised Signature

Plot No. 171, Shree Krishna Nagar Colony, Beside Venkata Sai Nagar, Chengicherla, Boduppal, Hyderabad - 500 039, Telangana.

E-mail: vidyashankar3256@gmail.com

M/s.	: Mode Reguly media por 4	Invoice	No.: 7)	Date 🕹 🕦	10
	0	D.C. N	0		Date	
		_ P.O. N	o 700°	13.	Date	12/15
Party	GSTIN: 36AAEFM1459R1ZP	Despat	ch Throug	h		
S. No.	DESCRIPTION	HSN Code	Qty	Rate	Amount Rs.	Ps.
	A block. 101-		SFI			
0	Design False ceiling		296	39	11554	
	ventals		325	39	12675	
	Diano Felle Culing		SFL	34	3551	
	Hals certify had light		17 17	25	425	
	A 109 - Design Falle Ceiling OPERTIES NO. 123	S SUTILITY OF THE SECOND SECON	5#1 304 RF1	39	11843	
	Verticals (Chilips SEC'B	() () () () () () () () () ()	497	39	16653	
	Plain false Ceiling. TOFECTB Huse cutting For light		S#1	34	3651	
	the se		17	25	425	
Pun	ees in Words: Seventy one Theread J	ire		TOTAL	60677	
		10000	SGST (THE RESERVE THE PERSON NAMED IN COLUMN TWO	5460	30
H	undred Ninty eaght oul	1	CGST		5960	50
) 0		IGST @	% TOTAL	71590	
			GRANI	1007675.3	71598	
Dec	laration:			For VID	YA SHANKAF	K V.

Receiver's Signature

Idno: 59362 to 59362

Construction division. Advice for giving credit to contractors/suppliers

Sl. No. – site bills	1	60-			- site b	ills	3/12/	120
register	1			Regis	ster			
Company Name:	MR Ma	lapun	UP	Site			GIM	P.
Name of Contractor	Vida	a st	rank	ar.				,
Nature of work	1	gned	0		Ceiling	g for	A-B	lack.
Work done	From Da	ate	20	10/	20 f	o Date	10 1	1 20
Sl. Villa/Flat/block no	o. Qty.		Rate		Units	Amou	int	Contractors bill no
1. A-101, false 6	ling - 2	96 -	39	7/-	Sft	11	,554/	
2. Vonticals		15-	39	1/-	Sft	12	,675/-	
3. Plane false Coil	ina -1	04-	34	11-	Sft		551/-	
4. Holes for LED.	1/ .	7-	2	5/-	No's	(125/-	
5. A-109. false (eiling -3	04 -	3	9/-	sft	11	843/-	
6. Verticale	42:		3	9/-	Rft	16)	653/-	
7. Plane false (ci	ing-104-		3	41-3+		3	551/-	
8. LED lighte	-1	7-	25	5/-	Nas	t	125/-	
9.							,	
10.								
11. To	otal:					60,	6-18/-	+
Bill required	YES [NO.		GST	bill requ	iired	PYES	□ NO.
Measurement &	Requir	ed			suremen		Enclo	osed
estimate sheet:	□ Not re				ate shee		□ Not 9	nclosed
PO/WO no.	700	093		PO/\	VO date	:	5	9/20
Remarks:								
							,	1
Approved by Project Ma	nager	Appro	ved b	y Des	ign Tear	n Ap	proved b	YMD.
Date: 03/12/2027	D	Date:	85	112	20	Da	proved b	- 5050
Sign:		Sign:	3	war	elle	Sig	1	DED MADOTOR

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying Jabour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

Company Name: Contractor Name: Vork Description: Contractor Name: Sprepared By	Armallanır		***************************************	***************************************		
	Zy Z			Approved by:	d by:	Rampasad
	GIMIN			Sign:		
	Designed False ceiling for A-101	11 & 109 with Gypsum	rypsum			
	Vidya shankar					
	Sai Kumar		Work order no	0	0	
	12/3/2020					
Item Head	Item Description	Quantity	Units	Rate	Amount	Head Total
Designed False ceiling for A-101 & 109 with Gypsum	with Gypsum				***************************************	
Ceiling Gypsum	Design false ceiling	296	SFT	39.00	11.554	
	Verticals	325	RFT	39.00	12,675	
<u> </u>	Plane false ceiling	104	SFT	34.00	3,551	
<u> </u>	Holes for LED lights	17	No's	25.00	425	
	***************************************					28,206
Designed False Ceiling Gypsum	Design false ceiling	304	SFT	39.00	11,843	
	Verticals	427	RFT	39.00	16,653	
<u>q.</u>	Plane false ceiling	104	SFT	34.00	3,551	
ш.	Holes for LED lights	17	No's	25.00	425	
						32,472
				Total Amount		60,678.12
W.	Amount in words: Sixty Thousand Six Hundred and Seventy Eight Rupees Only	and Six Hundre	d and Seventy	Eight Rupees	Only.	

MEASU	REMENT SHEET	Mrmallapur	***************************************	• • • • • • • • • • • • • • • • • • • •	A	A	Rampasad	***************************************	
ompany	Name:	GMR		·····	Approv	ed by.	Kampasau	******	
roject:			01 6 100		Sign:	<u> </u>			
Vork De	escription	Designed False ceiling for A-1	01 & 109 with G	ypsum					
ontract	or Name:	Vidya shankar			<u> </u>	<u> </u>			
repared	By	Sai Kumar		Work order n	0.	<u>;</u>			
Date:		12/3/2020			<u> </u>	<u> </u>			1
			A	В	<u>[C</u>	<u> </u>	E= AxBxCxD	F	G=Sum of E
S No.	Item Head	Item Description	Length	Width	Height	Nos	Quantity	Units	Item Head Tota
	Designed False ceiling for A-101 &	109 with Gypsum			<u> </u>	<u> </u>	······································	***************************************	
		Drawing & Dining	23.41	10.75	1.00	1.00	251.66	SFT	
<u>l</u>	Designed False Ceiling Gypsum					4		SFT	·
	A - 101 - 3BHK	Kitchen passage	9.58	2.83	1.00	1.00	27.11		207.27
		Toilet passage	3.50	5.00	1.00	1.00	17.50	SFT	296.27
		Verticals	325.00	1.00	1.00	1.00	325.00	RFT	325.00
	Plane False Ceiling Gypsum	Master Toilet	7.58	4.83	1.00	1.00	36.61	SFT	<u> </u>
	A - 101 - 3BHK	Children Toilet	7.50	4.75	1.00	1.00	35.63	SFT	<u> </u>
		Utility	7.58	4.25	1.00	1.00	32.22	SFT	104.45
2	Holes for LED lights	4" & 2.6"	17.00	1.00	1.00	1.00	17.00	No's	· • • • • • • • • • • • • • • • • • • •
3	Designed False Ceiling Gypsum	Drawing & Dining	23.41	11.00	1.00	1.00	257.51	SFT	
	A - 109 - 3BHK	Kitchen passage	3.50	4.83	1.00	1.00	16.91	SFT	1
		Toilet passage	9.75	3.00	1.00	1.00	29.25	SFT	303.67
		Verticals	427.00	1.00	1.00	1.00	427.00	RFT	427.00
	Plane False Ceiling Gypsum	Master Toilet	7.58	4.83	1.00	1.00	36.61	SFT	
	A - 109 - 3BHK	Children Toilet	7.50	4.75	1.00	1.00	35.63	SFT	
		Utility	7.58	4.25	1.00	1.00	32.22	SFT	104.45
4	Holes for LED lights	4" & 2.6" dia	17.00	1.00	1.00	1.00	17.00	No's	1
						ļ			

Purchase Order

Page(s) 1 Of 1

05-09-2020 10:25:15

From Company: Modi Reality Mallapur LLP

5-4-187/3&3, II nd floor, Soham Mansion, MG Road, Secunderabad.

G S T No.: 36AAEFM1459R1ZP



03.09.20 11:46:56

Supplier Details			
Mr. V. Vidya Shankar	Doc No	70093	68398
Plot no. 171, Krishna Nagar Colony, Chengi Cherla, Ghatkesar Mandal,	Doc Date	05-09-202	20
	Quote No	Nil	
GSTIN 0	Quote Date	09-11-20:	19
9246889529	SupplyType	Supply An	d Installation

Kind Attn: Mr. V. Vidya Shankar

Purchase Order for the Supply of following Items.

Item Name	Qty	Rate	Dis%	IGST	Amount
1 6022 - Miscellaneous - False Ceiling - NA - sft Gypsum False Ceiling - Design	3,800.00	39.00	0.00	18.00	174,876.00
		Total Or	der Valu	e	174,876.00

Terms and Conditions :-

Specification / Brand Above rate as per guideline cir.no.552(a) dtd. 24.10.09 issued by our M.D. and accepted by contractor. Above rates are inclusive of all.

Payment Terms

60% on delivery of all materials, 20% on starting of work and bal. after completion of all works.

Tax

All taxes included in above price.

Delivery Date

Within 4days.

Delivery Location

Gulmohar Residency

Survey No 19, Mallapur, Hyderabad. NExt to NFC Railway Over Bridge

Phone. Contact: Security ____ __, Admin 9502211011

Penality For Delay

Bills must be submitted to H.O. within 30 days of completion of work. 10% plty on value of order will be deducted for delay in submission of bills.

Transportation Cost

Included in the above price.

Warranty

One year on workmanship

Advance Paid

Nil

Other Terms

We reserve the right to reject items not conforming to quality and specifications. Above order for A block model flats 101 & 109 purpose.

Completion Date

Work to be completed in 4days. Penalty of 5% of order value per week shall be levied for delay.

Measurment

Payment will be made as per measurement of laid and fixed material. Wastage at suppliers cost.

Remarks

Security Supplier shall be responsible for security and storage of material at site at its risk and cost.

For Modi Reality Mallapur LLP

Authorised Signatory

Accepted the above Terms And Conditions

For Mr. V. Vidya Shankar

Name	·

Date : __/__/___

				Requi	isitio	ı Form			
Compa	ny Name:	MODI REALT	TY MALLAPU	JR LLP	Dat	e:		03.09.2020	
Site &	Phase :	GULMOHAR	RESIDENCY		Tin	ne:		10:45	
Supplie	er	Vidya Shankar	Vidya Shankar		Rec	l. No.		68398	
Materia	al required before	re date:	07.09.20		ID	No.		59574	
No		Description		Size		Quantity	Units	Inward No	Date
1.	Designed fa (branded)	lse ceiling with	Gyp boards	1900 s	sft	02	flats		
2.	To the second se								
3.		_	70093						
4.									
5.							4		
6.									
7.									
8.									
).								APPROVED B	
10.								APP 2020	
Remark	s: For A-Block	model flats flat n	no- 101& 109 f	alse ceili	ing w	ork purpose a	t GMR site	04 SEP 2020	
Prepare	ed By	A.Sravani			App	proved by	W	SOHAM MOS	TOR
Sign.&	Date	03.09.2020			Sign	n. & Date		MANAG	
Vote:									

Note:

Estimate/Draft PO

Page(s) 1 Of 1

04-09-2020 10:36:35

Original / Office Copy / Purchase Div.Copy

From Company: Modi Reality Mallapur LLP

5-4-187/3&3, II nd floor, Soham Mansion, MG Road, Secunderabad.

G S T No.: 36AAEFM1459R1ZP

Draft PO for Approval

APPROVED BY

Supplier Details				
Mr. V. Vidya Shankar	Doc No	70093	68398	
Plot no. 171, Krishna Nagar Colony, Chengi Cherla, Ghatkesar Mandal,	Doc Date	04-09-2020		
	Quote No	Nil		
GSTIN 0	Quote Date	09-11-201	19	
9246889529	SupplyType	Supply An	d Installation	

Kind Attn: Mr. V. Vidya Shankar

Estimate/Draft PO for the Supply of following Items.

Item Name	Qty	Rate	Dis%	IGST	Amount
1 6022 - Miscellaneous - False Ceiling - NA - sft Gypsum False Ceiling - Design	3,800.00	39.00	0.00	18.00	174,876.00
		Total O	der Valu	e	174,876.00

Terms and Conditions :-

Specification / Brand Above rate as per guideline cir.no.552(a) dtd. 24.10.09 issued by our M.D. and accepted by contractor. Above rates are inclusive of all.

Payment Terms

60% on delivery of all materials, 20% on starting of work and bal. after completion of all works.

Tax

All taxes included in above price.

Delivery Date

Within 4days.

Delivery Location

Gulmohar Residency

Survey No 19, Mallapur, Hyderabad. NExt to NFC Railway Over Bridge

Phone. Contact: Security _____, Admin 9502211011

Penality For Delay

Bills must be submitted to H.O. within 30 days of completion of work. 10% plty on value of order will be deducted for delay in submission of bills.

Transportation Cost

Included in the above price.

Warranty

One year on workmanship

Advance Paid

Other Terms

We reserve the right to reject items not conforming to quality and specifications. Above order for A block model flats 101 & 109 purpose.

Completion Date

Work to be completed in 4days. Penalty of 5% of order value per week shall be levied for delay.

Measurment

Payment will be made as per measurement of laid and fixed material. Wastage at suppliers cost. Supplier shall be responsible for security and storage of material at site at its risk and cost.

Security Remarks

T.D. Mulies 419/20

For Modi Reality Mallapur LLP

Authorised Signatory

Name:

Draft PO for Approval

Accepted the above Terms And Conditions

For Mr. V. Vidya Shankar

	Date ://
Name :	